JlenieHne Ha xN2

1) (2xN2 — 3x + 1)(2x"N2 + 5x + 1) = 9xN2

2) (X +2)(x +3)(x+ 8)(x + 12) = 4x™2

(X +2)(x + 3)(x + 8)(x + 12) = 4x"2

(X+14+24/x)(x+11+24/x) = 4
t=x+24/x+11

(t+3)t = 4

tN2 + 3t =4

tN2 + 3t-4 =0

t1t2 = -4

t1+t2 = -3
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xX+24/x+11 = -4

XN2 +11x + 24 = -4x
XN2+15x+24=0
X1x2=24

X1+x2=-15

d= 225 -96 = 129
x1,x2 = (-15 +-v129)/2

(XN2+14Xx+24)(xN2+11x+24) = 4xN2 |: xN2

(.

TIGER (TORA)

X+24/x+11 = 1

xN2 + 11x + 24 =X
xN2+10x+24=0
X1x2 =24 : x1+x2 = -10
X1,x2=-4, -6

answer : -4,-6;,(-15 -v129)/2 ,(-15 +v129)/2

X+24/x+11 =1 |*X

(XA2 + 11x + 24)/-x = Xx/X

nyctb x=0, Toraa 24=0, a 3Ha4uT x!=0=>
npu Xx=0 YyncnuTenb He paBeH HYIO
XA2 + 11x + 24 =X

(XA2 + 11x + 24)/(x+6) =x/(x+6)
x!=-6
XN2 + 11x + 24 =X

=-6;X=-4,HO -6 BbIOpacbLIBaem
OCTaHeTcs B oTBeTe -4

LOPELATH

(2XN2 — 3x + 1)(2X"N2 + 5x + 1) = 9OxN2 | xN2

/

Answer: x=-6:x=-4,

-1 6ann

/50 nBoek
2-O1 COUYMHEHMne
300 oBoek

(XA2 + 11x + 24)/(x+6) =x/(x+6) / x1=-6

9KOHOMUYECKUU PaKynbTeT
1-bI1 MaTemaTnka 1500 yenosek

ak3ameH B 10:00
Bce npuwinm B 9:00

ak3ameH B 11:40

9K3aMeH Ha npaBa
B 16 yacoB

5 YyacosB




